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101.

102.

Four resistors of 10,000 ochm, 1,000 ohm, 100 ohm and 10 ohm are connected in parallel.

What will be their equivalent resistance?

@)

®)
(&)

A

more than 10,000 ochm
10,000 ohm
10 ohm

less than 10 chm '

10,000 @b, 1,000 g, 100 @b whpd 10 qub Garer. preng L&aﬂg,em_am LGS @mmumﬁlm

@c»mrasa;uUL@mmaT eTafed SeupBlen Qgm@Lwen e genL erenar?

@)
(B)

(©

@)

10,000 gub eflL. xSls1D

10,000 gib

10 g

10 gib efl_ @enpey

Speciﬁc.heat capacity of water is how many times more than the specific heat capaéity of

mercury?
(A) 20
B) 40
ug)' 30.
® 50

- fpflen e Qeutiu gpusHper LrgrasSlen sen Qauliu gpUsdpmer L aTHgmeT L BIE ASED?

A

®)
©)
™

20

40

30

50
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1@3. Which is the _strongest acid in the world?
(A) | Sulphuric acid
(B) Hydrochloric acid
(C)  Nitric acid

\ﬂ( Fluoro sulphuric acid

| 2 &5HCOCW & moﬂ;mwu.;ciw! Sifled e1gy?
(A spse e
(B) evan  Guré gCamfls oiblawn
(C) ap fésudan

D) yCemGym &H58 bl

104. Air polluting photochemical smog, PAN is

(A) Para acetyl nitrate

\‘B( Peroxy acetyl nitrate-
(C) | Peroxy acetyl nitrite
(D) Parﬁ acetyl nitrite
mnué&@m wrsUESEL GafiGaudll yams, PAN sramug)
(A) urmrréé]n'_ml_é) enpL Gy
(B) Qupnsd &é\t;'.a)a_éi sl Gyl
(C) Qupmsd oL a)m:;é)m;

M)  umr sl aplay
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105. play an important role in the formation of spindle fibres during cell division.
(A) chromosomes
(B) chloroplasts

‘)Z)' centrioles

(D) lysosomes

Q56 ugLIIEGUTE) ev g priteer Gprangiaidle —— WEHuL LEiE wdsADg.
A @GUWGmHngLba;gif ' ' o
B  ushsefstsdr

(C) @ss&r;mgmn@a;df

D) aGerGembger

106. Which one of i:he following Alkaloid obtained from gymnosperms?
\.Q( ' Ephedrilne | |
- (B) Thene
(©)  Nicotine
(D) Resin
| &-g;asasm_mm& glm@érnduﬂu&xﬂd) AGhe Qumuu@ﬁ: PEOTLE TF?
A) e Mer
® gor
© PsCamaen

D) Qgden

= | 29 L SGHGT17
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107. Skin cancer is also known as _
(A)  Osteoma UB')’ Melanoma
(C) Lymphoma _ (D) Leukemia

Ggred DmICHTL ereueumy Bien&sLILEEDE?
A ey Cumor : (B) QuaCemor

©) b Cumon D) gGsdur

108. Peacock sanctuary in Tamilnadu is located in
(A)  Kodikkarai o (B) Mudhumalai-

(© Mundanthurai 7 Viralimalai

SUONDBTL 1 6) a;mL@LouSls‘u SSTTOWILD GTEIE asnmﬁru@é]g])g]?
(A)  CGsmgwéseny , o B) @sgwe |

C) @ar_pgeop (D) eflpreSloensy

109. Name the new tax system of the central government which is to be implemented by the year

2017.
) VAT o | (B) MAT
V& GST | (D) ST

L 2igend 2017 b @Y HEGET Bl (pepéE LRABgIMTESIIIL L AW euflapenpulien Quui

Gremen?
(&) VAT | o  (B) MAT
© asT @) ST

SGHGT17 - - 30 | o



o | |
110. The Book “Turbulent years (1980—-1996)" was w-ritten by
‘ M/ Pfanab. Mukherjee | |
(B) APJ Abdul Kalam
() RK. Ngrayanan
(D) Kﬁ.ushwant S'mgﬁ
“Lingeven’. @uwire (1980-1996)” arénp Lisps5mS argHuautt wir? |
(A)  Gpewmmu g B |
B) c;lSng DILIGIED SQMD
(®)] R'K. HTTILIGRT 6T

D)  @oyespp di

111. The first children’s"_court in South India was started in August 2016. It is located at
(A) Tirupathi
(B) Chennai

(C) ‘Thiruvananthapuram
\M | Hyderabad

el 2016-6 SenoésulL Gge BpHwureilar Wso GYHosEe fHwenpwb ammgbgdrm BSTD

agl?
@)  Houud
(B) Qaaenar |

€) HmueHsUmDd

@)  eapsrTUTS
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112. Who was recently appointed as RBI governor after Raguram Rajan?

(A) 1.G. Patel
B) C. Rangarajari

(C) D. Subbarao

W Urjit R. Patel

113.

SGHGT17 | . 32 £

TEITD FTRenl&EEL Qm@ Meres curid ésajfrsmums sbugHed ﬁ{l.l.lﬁlésa.iﬁlul'_.l_@.lﬁ u.nrfr'é
A LG urlCGe

B) C. Qriisymgen

(C) D. stiumgméy

D) 2iR$R LM GLé

Between which two cities does the first bio diesel passenger bué, launched in July 2018,

run?
(A) Kolkata — Chennai

(B) Mangalore — Chennai

\)6{ Bangalore - Chennai

() Mumbai- Chennai

ahs Ly pEIhEEEEE @ uld, gﬁmm 2016-& Qsmkisiule LGWT wedld GEHL LweRsd
CLmbE Ceana QukigSng?

(A Qstossst - Gedemar

(B) ORSEH(H — QFaener

(C)  Quriseym - Qsanenen | ‘ _ o i

D  @béeu - Qserenenr . - ‘ ' ' |




114. Match List I with List II and select the correct answer using the codes given below :

List I . List II
(a) Sind.hu PV _ 1.  Wrestling
(b) Deepa Karmakar . 2. Boxing
| (©) Sakshi Malik | 3. Gymnasticis
(d) Vikas Yadav 4. Badmintoh

@ ® (© @

@ 4 2 1 3
®) 4 12 3
uar 4 3 1 2
® 3 2 1 4

afias 1 oL ar auflans Il-g Quagsd afimssenses Sp Qandéssiul Gerer QgrEUtadmbe

sflwren elen_eow Qgfiey Qaiis.

aufles] . aflens 11
(a) &pg PV 1. wowygsn
(b) '.,5un' LAENY:] | 2. GSEHIF FHTEDL.
(c) &rréséﬂ wredlE ' 3. sRIbaeiv . &6
'.(d) oAsman wrgeu 4 U Lfletore.. 681

(a) ®  (© (d)

(A 4 2 1 3
®) 4 1 2 3
© 4 3 1 2
©) 3 2 1 4
e 33 | ) SGHGT17
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115. Miss World 2016
(A) Yaritza Miguelina
B) Nailzasha Mannuela
\M Stephanie Del Valle

(D) Rolene Strauss
s 3ipd 2016
A wiilen SGeulianm

(B) pLreagr Gugpaier

(C) evQLuref QL G

(D) Gyreden soLnyev -

116. On May 12, 2016. President Mr. Pranab Mukherjee conferred the Florence nightingale )

award on

\/4 ~ Nurses
(B). Doctors
(C) Pilots
o) . Engineeré

Gw 12, 2016-& gewfuf Gpem: st cuphdlu Qemperer plyrCsd AmSHeer

eupidlenmi.
(A  Qeeftddlwiiser

B) wosgisa

€C) garuelwrand gUueurt

D) Qunﬂu TeTiGeT

SGHGT17 34 . P



117. Which Indlan satellite was launched through GSLV-F05 rocket from Sri Hankota on
9th September 2016?

veA)/ INSAT-3DR

(B) INSAT-3CR

©) INSAT -1C |

D) IRS ~1DR

QsOLtbut 9, 2016 — & hanfGam L sré@a’ gagasddmbs § e .ered.effl. — ey 05 rﬂresG.sn_
apeLd cltemanfler Qegugsliul L Qeupeamas (B&nm ag?

A) @'a&r&m‘_ 3 g it

(B) . Qansn 3 & gy

(C) Qeasm_ 148

(D) g.ierev 1 g T

118. In which year child labour policy was passed?

) 1980
& 1987
(© 1985

Dy 1982

Gl Ghens OgmPleorart Asrarens GubpUiu L e Grgq'?

A) 1980
®) 1987
©) 1985
D) " 1982
= - | 35 SGHGT17
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119. National income of a country can be calculated by

(A)
\Jr
(C)
(D)

2 methods |
3 methods
4 methods

5 methods

BT (B eurargeng semsdiw aufiopmpaer

A)
(B)
©
D

120. Which year GPS was established to overcome the limitations of previous systems?

@A)
®

S
O

THE D 208 SienwellL Biser sam_fluw AsrEd uepw wapsaldmbia Gmpad ﬁé&ﬁuuﬁ@

2 weopseT
3 weapser
4 ppempaer

S pespaar

1970
1972
1973

1976

DL (D&E ubEg?
Ay 1970
(B) 1972
(C)y 1978
D) 1976

SGHGT17
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121. How the Rajya Sabha members aré elected?
| (A) Elected by Lok Sabha members
lz{ ‘Elected by the .State M.L.Aé
(C) Elected By Lok Sabha and Rajiya Sabha members

(D) Elected by Members of Legislative council

tomEl a)réjsmé»m e mngeniseer Wi Ggﬁﬁ@g@é&ldwmﬁ?

(A) (;p’_,sr'req Q&u‘.au.ni:u L1 ésaTeney e-mrnleniaer

B) Gsiey Gt wrfle s.LsemLs o mnSeniser

(©) Gsirey QaudiLl L éseTmal HPID WIFlakisaTna 2.0 Olenirgeir

D) Csirey Qeiuwitin L wirfle Guésea (M.L.C) 2 pinQeniaer

122. UPSC, chair person and members are appointed by

W President
(B) Prime Minister
(C) Vice President
(D) Supreme Co’urt Judge
gHw Gumgis Lesflumarit GaraunenamusSen semeaut Hmith e.guIllaismer flunoend Gaiiueui
@ ouurspgaoni
®)  Gnpgio oA
© F@e Gl LI5S P

©  edspfiodr FHUS

= 37 SGHGT17
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. 123.  Which of the following is not included in the union list?
(A) External affairs |

& " Public health
(©)  Audit and Account

(D) Defence

Epaumuaaseie erg wsHw LGS Corrsg?
A Qaefiypey efleustrriser |

B) Qu rrgj' SETSTILD

© semsfud LHgw seléms

D) ungisminy

124. Which of the following statement is wrong?
(A) In a Republic, Citizens have equal rights
\ﬁr Avvai home is an Qrphanage for girls
(C) Democracy (_:reatés an equal society

(D) . The first women doctor in Ihdia i8 Dr. Muthulakshmi Reddy

Seramararepper AUrmbsTs gearen GHIIH
&)  Erurded adlar@b s 2 Amwp 2 en_weiissr
B) gorea Qo aaug eTms AYPOLTEEHESTET G(F SMLILELD

C) sugge spgruans e (HaursEGuGs wiserm A

D) @pdunellen apged Queim MmEHT LTELT psgQa s Q.

SGHGT17 38



125. Match the List I with List II correctly and select your answer using the codes given below :

ListI List I1
(a) Article - 45 " 1. Rehabilitation of Girls
(b) Children’s day 2. Free and Compulsory Education’

{(¢) Dowry Prohibition Act 3. 14, November

(d) Short Stay home 4. 1961

@ ® O @
@A 2 4 3 1

B) 4 3 2 1
W 2 3 4 1

ulque T-eow bl -2 1 v QurmpsH £Cy Qan@ésiiu’_@Gerer gHluiBamer Qsnan() sfwmen

cden_cows CEiBASHES TS

ulgueé I , uCiguwed IT
(a) Afley-45 ~ 1. Quewrser oy Fremwly Qb
(b) Gwpessd Hand ' 2. Boous wdHmd &L seoe

o

(c) eurglomen sHLILEFLID 14, peubui

d) Godw st QaeriseT 4. 1961

@ ® (© @

@) 2 4 3 1
® 4 3 2 1
© 2 3 4 1
® 3 4 1 2

39 " SGHGT17
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126.; Tamil Nadu Nugarvor Kavasam is a Magazine.

{A) Daily
UB( Monthly
(C) Weekly

(D) Fortnightly

SBDErH mETGaunt SeuFb qm = - ugSfisams.
@A)  Sersf usHRsms
B wrghugHiisams
© | umyu ugdilsans

D) wrsb Gawen ussisns

127. In which District of Tamilnadu Karaivetti Bird sanctuary is located?
(A) Ramanathapuram

(B) - Thirunelveli

w Ariyalur

(D) Nagapattinam

SUDHTL 1 6T Gﬁi&{, el L. 58 ‘ser Gailly’ LD@eISET STETOLID SELDHEEToTS?
@  @rmopraLgd .

®  SoapaCaud |

©) flwgnf

D) praiuligend

SGHGT17 40



128. Match List I with List IT and choose the correct answer -

List T List II
(a) Maunaloa ' 1.  Africa -
(b) Ves;uvius | 2. India
(© Mt. Killimanjaro 3 Hawai -
(d) ° Norcondam .. _ 4. Italy

@ by (c) (d)

) 2 3 4 1
w3 o4 o 2
©) 4 1 3 2
D) 4 1 2 3

UL Igwied gemenn L iguwie ArarHLes Qurmss sflwrar aflentew Cairay Aewis :

L g d 1  ulque I
(a) CunemGemeur 1. L1 afen
(b) QeugeRused -2 [0,
(c) wm@r&@aﬂm@an(ﬁw‘ é. @meumi
@ prisem_i 4 @gend
@ ® © @
(a) 2 3 4 o1
®) 3 4 1 2
€ 4 1 3 2
™ 4 1 2 3
£ | | a1 |  SGHGT17
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129. Which one of the following is correctly matched?

V.

®)

(©

)

Sornavari
Samba
Navarai

Zaid

Chitthirai Pattam
Karthigai Pattam
Adi Pattam

Avani Pattam

GemeuheuameudmeT ergy silwims GummbdlueTerg?

(A)  Qenfesrourl
| (B) &bum
©)  paseny
(D) emswg
130. Simplify:
.
10 10
o 001
(© - 0.0001
FHESES -
1
10710~
A 0.01
(C) 0.0001

SGHGT17

Hzflenr uL1d
srigdlens L LD
DL LI LD

Speuenil L LD

®)
@)

(B)
D)

42

0.001

0.1

0.001

0.1



131.

132,

Reciprocal of _?7 is

@ 2
P
9
© %
® 2
‘,?7 ér oo &,
@ 2
® =
© =
@ 2

Two dozen sweets are divided between Rajneesh and Kumar, so that they get 25% and
75% respectively. Find the number of sweets for Kumar?

. B 17

' A) 16
uz( 18 (D) 19

speely, @O Gaaimd 2 Lger B L miisemer 25%, 75% ararpeuny 195515 Qardddnpant. @i
Qumb B 1 misefler erameniléEensasd sramns. :

A 16 B) 17

© 18 | | ®) 19

.43 | SGHGT17
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133. What should be added to 16 to get —317?

A 15 ®
© 47 Y 4
16 2.1_&h aTHS cTeRTE SRS &Lq@m«b -31 flen_&@Gtb?
@A 15 (B)
€ 47 A D)

134.  Simplify (1%x31J-[4§+5§) -

7 8 §
A) 1%
® 2=
Vo
® 3

FHESS (l%x 31J -(4§ +5§] =

7 8 5
A) 1%
{B) 2 %g-
® 2

SGHGT17 44



135. The sum of two numbers is 43 and their difference is 13. Then their multiplication is

(A)
®B)
wer

™

400

410

420

430

@qaﬁﬁ@ eramseflen (s 43, smausaiear edgHunsn 13 aefied Sibs aarsatern Aumsad Licoer

(A)
®)
©)
o

400

410

420

430

136. A man had Rs. 75 lakhs with him. He spent 48 lakhs and 85 thousands to buy a building.

How much money is left with him?

(A)
W
©
D)

| 40 lakhs

26 lakhs 15 thousand
20 lakhs 25 thousand

33 lakhs

@ BUIt .§6iiTGbﬂL-Lb .75 @l sb eeugeTamt. Dt @M SlgLFos QUTRIGUEDETE

.48 @mu;ﬁﬂ 85 iy Qeeway Aaiipmt arafld reuflib eréuaueray L 154 Gama@n?

@A)
B)
©
(V)

40 Q@b

26 Qeol.568 15 uilmb
20 @l s5H 25 uambd

33 Gl ab

45

SGHGT17
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137. If 12 men can do a work in 15 days then how many days 20 men can complete the same

work?
(A) 10 days
(B) 5days |

| (C) 25 days

. \ﬂﬂ 9 days

e Cauamaenw 12 puisear 15 priaefid qpylulr. 2Gs Gaumm@m 20 punger arggmen prlsefled
QP uur? | |
(A) 10 pmiser
B) 5prlse
(C) 25 prl&er
D) 9 B HET

138. A car covers 150 km in 3 hours. The distance covered by the car in 12 minutes is

A 15k.m.
(B) 20k.m.
(C) 36km.

W 10km.

@ wlpaps 3 wall CorsHd 150 H.8. FIrsms aLsEw aafid 12 HOLEHO Sips wHPeHS

ereucueTey FNTEDS SLEGLO?
(A) 15 &.8.

(B) 20 4).i5.

(€) 364.8.

D) 104.8.

SGHGT17 - 46 | =



139. Which of the following number is diviéjble by 9?
\M 8576901 |
(B) 96345210
© 67594310

(D) 2784224

£Cyp Qsn@ésiuGerar craiur&aﬁé) 9 o) QuUEGLELD eraT e15?

(A) 8576901 | o
B) 96345210 |

(C) 67594310 |

(D) 2784224

140. If A: B=2:3, B:C=5:4, thenthe.ratioofA :B:C is

Ay 15:10:12

B) .10.: 12:15
M 10:15:12

D) 2:84

A:B=2:3 B:C=5:4 aafld A : B:C-éncilflgid> erénug

@A)  15:10:12
®B) 10:12:15
(© 10:15:12
D) 2:8:4
= ' T ~ SGHGT17
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141. Match the following :

(a) Mamaluk 1. Copper coin
(b) Danga 2.  Worshipping king
() Jidal 3. Slave

(d) Fipose 4. Silver coin

(a) (b (© (d)

Ay 4 2 - 1 3
v 3 4 1 2
© 2 4 3 1
») 3 2 1 4
Qunghss:
(a) mMOYNSE ' 1. . Q&ady presrund
(b) t.maT 2. ey eUERTRIGSHD
(c) | _néd ' 3.  Sigenw
(d) eQumeiv 4. Qousrafl Bremruib

(a) (b) (c) (d)

A 4 2 1 3
®) 3 4 1 2
© 2 4 3 1

D) 3 2 1 4

SGHGT17 48



142. Mohanj adaro is situated in which province?
- (A) Punjab
(B) Lahoor -

(C) Beshawar
& sind
szr'ra;@&g,n@mr BSYID eThS LT et Hie) aqa)m‘l'ﬁg,demg;?
(A ugsm
(B) enmemm
©) Qua%rrsur’r

D) Ay

143 Where did the British defeat Virapandya Kattabomman’s army?

\}‘( Kallarpatti

(B) _ Singa Puneri
(©) Madurai
(D) Sri Rangain
@Q{,@eﬂCmuﬁadT eSpumams. W s QuTbeie LW b @l_gﬁd) Card &g S ?
(A) 5drq7ﬁu|;|4 |
- B)  Adsi yenfl
€) wgey

©) fyisid

e . , 49 - - SGHGT17
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144. Petty Chieftains of hilly region during the sangam age were called
(A) Manﬁar
(B) ‘Mamannar

(C) Maharasan

\ﬂ( Veliars

s1815 sTSHD e sTikE Brhsmer o' f Qals Gnfle LenemiTaeT @eueumy SIOPEEILLL e,
(A) ms&rarﬁ .
(B)  wnmwéerent
(C) wayrgen

D) Couefii

145. Who was not the member of Ashtadiggasas?

(A) Dhurjathi

W  Sayana

(C) Mallana

(D) Panaji Surana

Stagt fésgriseid @anrg emeuir wni?
A gigd |

B) smuer

(C©) weeeTarT

) usmr@ e
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146. Match the following :

(a) Delhi Salo .1. ‘Balgangadhar Tilak
(b) Do or Die | 2. Dayananda Saraswathi
(¢) Back to Veda 3. Nethaji

() Swarajis my birthright 4. , Gandhiji

@ O © @

@1 oz 3 4

® 2 1 8 4

uer 3 4 2 1

® 3 4 1 . 2.

GQH@&@%:_

(é)_ IGL._éJoS] aﬁmrr 1. urestusrsy s
() Qs Si0g QF5E iy 2. puretps syevess

) . Gougsrosdpe Hmounsdar 3. - Cpsrg

(d) swrTRHWD ey ﬁ\mugrﬂmm 4. srpHY.

() (b) © (d)

@ 1 2 3 4
®) 2 1 3 4
©) 3 4 2 . 1
D 3 4 1 2
= | | 51 | SGHGT17
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147. Match List I with List II and select the correct answer using the codes given below the lists :

List I _ List IT.
(a) Sun _ . -+ 1. Chemical reaction
(b) Solar cell 2. Nuclear fusion reaction

(¢) Lead acid accumulator 3. Electromagnetic induction

(d) AC generator " 4.  Light energy into electricity

(a) (b) () (d)

@ 3 2 4 1
® 1 3 2 4
© 2 4 3 1
27 2 4 1 3

aflms I 216 awlas Il-ow Quimsd aufamsaersg & Asr@ssiul Gaar AprELId mHS
gfluiren eflenenw CETHASHESeyLD : A

- auflens 1 ‘eufleng IT
(@) @flwen 1. Geuglellenarn
(b)  @fludensaen 2. signsam Qmenrey oliener

(€} snffu oufle Geosawar 3.  UlaEThss SRTL
(d) AC Seveflwbdl 4. gaft gyHpe Benamppers LTHHUILHSD

@ ® © @
A) - 3 2 4 1

B) 1 3 2 4
© 2 4 3 1
D) 2 4 1 3
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_'148- Assertion [A] : In traffic signals red colour light is used to stop vehicles.

" Reason [R]:  Red light has smaller wavelength and hence amount of scattering is less.
\M {A] is correct [R] is wrong |
(B) " [A] is wrong [R] i.s correct
(C) Both [A] and. [R] are correct
(D) Both [A] and [R] are wrong
gapm [A] : Cuné@eurdgl sCEHULT. G efarsgseia Aty By darse arsantamer ﬁgjggﬁ
vwueLRSsILBEDS. - ' :

- gmpamd [R] : fay fip gl GopHs s@afasmss GubpdTeTsTd Ga@peUTs HFHe
L ADg!. : ' , '

@)  [A] oA [R] poup
B) (A S [R] &t
© A wpmid [R] &

@) (Al g [ s

149. Find out the insectiéide used for contrﬁlling sap-suckihg insects?
(A) Malathion |
(B) Chloropyriphos
(©) Thiodan
&  Dimethoate
' ﬂskrm@mérm;bgm &r@ 2 Hlgs&id g,#élmm S OUULOSS LB yié Asrad arg?
(A) wregSuirer |
®) @.Gmncgnmurﬂurrdu
©) | gGumren
M) e BgGaGuL

= S | 53 |  SGHGT17
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150. What is the percentage composition of carbon in steel?

A  0.15%-1%

Y 11 0.25% — 2%
©C) 0.35%-3%
D 09%-9%
6o ol6h SraTLLHL sqfruaﬂs&r 85638 2ieTa) eraueuaTa)? |
A) 6.15% -1%
B 0.25%-2%
) 0.35%—-3%

D) 0.9%-9%

: 151 Energy currency of the cell is

Wi ATP
(B) ADP
(C) - NADP
(D) NADPH,

Qsdellen Hme HrerTuid ere StOPESLIUDIZ .

(A) ATP
B) ADP

(©) NADP
(D) NADPH,

SGHGT17 : 54



152, | Malignant Malaria is caused by
(A) Plasmodium vivax
' (B) _. Plésmodium malariae
% Plasmodium falciparum

(D) Plasmodium ovale

4o.Srﬂu.ub Lﬁl&&. wCaflwreyssner sryenfl erg?
(A) :ﬁlm'rrdu(};wmq.u.ub GaLIGUTEG

(B) lﬁlarnducmrftor@& wGeflwm

©) QermevGomgw |h. umre&Limgi

(D) QammevClomigid G

153. Which chemical is used in seeding clouds for artificial ram" _
(A) Sodium h}_rilrbxide
®B) Duralil‘xm |
(© CFC

\J#’ Potassium iodide

Qe@ﬁ;m& wep Qunfleugpans Cuoasda gruuub CaBudunme org?
A) Gsmq.u.@ ALy FréensDH |

® @grroﬂwfo

© CFC

(D) QuarC_Lrfwd SCureL (B

= - ' 55 SGHGT17
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154. Identify the person from the music industry who won the Magasasay Award for the year
2016. -

(A)  Unnikrishnan

\}B( T.M. Krishna

(C) Sudha Raghunathan

(M) K.J.Yesudas

2016 b yehriq e LDé'EGEI(‘g& eflmgIs dug_i)g) Qmes glepmenw FTTHE @;5511urr wmi?
(A  ecnefl Hmegearrer

' (B) .. Amegewrm
€ agrygprge

D KJ. gasrev

155. The book : “My Olympic Journey”, released in July 2016 was written by
(A) Abinav Bindra | |
\JB( Dig Vijay Singh Deo
©) | Sania Mirza
{D) Mary Kom
grane 2016-6 GeuefluGi L., ‘srs_%lr @lb9E LT’ areyth LSHESMS sr@@u.umr’r wrir?
4) encu Apggr
(B) ._ $é afiggus Hris HCwi
(C) smaflur Aireur

(D) Cuwf Gasmb
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-156. Wherewill the"-Biotechnoh_)gy-_ incubation centre’ be setup in Tamil Nadu?
(A) Sriperumpudur

B) Karur

. UO( Tharamani .

(D) Thambaram
SH BTty 6 2. uif 'Qgﬂ‘@é)@l'_l;l GOLOWILD 6T SIEDDESLILIL 2 GTang)?

@) BAumbLET

B) smi
©  pmowh
(D) _',snro_ugm' |

157. Which of the following first satellite ‘for mobile telecommunication was launched by China-
on August — 6, 2016? A ' ' '

(A) - Trufit-01
{B) China Té-()l
\}Z{ : Tian bong-Ol '
@) Kong ch-01
Sameune &L 6 2016-& eﬂeﬁramﬂ;i) gaiulL, meGus Qgmuirysarer, g Asupams
Garafter QUi Grérér? ' - |
@ 9ol
.(B). eeenm g H-01
.(C) "“lq.u..lll’dTL.tTlil-Ol

D) epri H.eogns-01

P S 57 SGHGT17
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158. Which indigenously built light combat aircraft was inducted into the Indian Air Force in
July 2016? ' :

(A) Rafale
\‘3{ Tejas

(C) MIG29

(D) Sukhoi~30

@pHuw eflwrens Ll goaa 2016-o Corastiut.L e @EMlgd gunt AsLuiule Qe 18

Gunr eflomed erg?

A)  prQue
(B)  Cggmewv
© MIG29

(D)  s&mi~ 30

159. India’s first Bio-CNG (Compress_ed Natiu-al Gas) Plant is located at
(A) Bengaluru

(B) Chennai

\je)' Pune

(D) Vellore

@bPuneflen apgd muﬁllﬂ-a@ﬁsﬁuu__ Bupes afleuny (Bio-CNG) o.pusd Qb“"‘“ TR

DHWEEILILPereng?
Q) Quissesm
B @EdT;TGI

© G

) Gmg_mr'r
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. .
160. In Tamil Naduy, the proposed new pof_t will be built in.
(A) Cuddalére |
- UBf Colachel
| ) Mahabalipuram

(D) Pumpuhar I -

SODET g6 yHu SODAPED GTIEIE DD 2_GTETS)? |
@) 51‘@“&' |

B) Qarerésd

C) . m&r’rueﬂqm‘o

@) woysti

161. India’s first e-court was opened-ih July 2016 at
(A)  Chennai |
X \4@9{ Hyderai_)ad
(C) New Delhi

(§3)] :I’oﬁdicherry

ggoaney 2016 b Speiriged @b winellen g Wer %@mlh '[BQLDG&‘@‘)I'D fsqml.be’s.ésuux’_l.» BEILD 6TH?
(A)_ Qasnenes | | R |
B  ososmn

©  usQed

D) vy EGeh

= o | 59 - SGHGT17
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162. Which country will conduct Olympic games in the year 2020?
(A) China : ' ' (B) Brazil
© Italy @7 Japan
 2020-tb gy eiriqd DG eileeTum_DEET eTbG BTl 6 FerL QuD?
A Ear ‘ - B) 9Grde

©) @bsred . D) gounén

'163. Identify the name of the gymnéstic vault performed by Deepa Karmakar at the 2016

Rio Olympics
(A) Khorkina ' ®B) ’_I‘suka_hara
\.(Cr Produnova ' ' . D) Yurchenko

sBusdle pLbgs ACuN @dlbGshd Sur smiCwar sobg Q&rrsﬁm.. géhhar{rrq'utq._é ardal Gfeilen

Quiwr erere?
(A CsrUgprdlerr - (B)  ssrapmyr

(C)  QurGymg CuirGanmeum - D) mfr@s@@&n

164. The 11t G-20 summit was held in sépiembér 2016 in
| (A) Russia . : wr China
_ (C) América_ (D) India
QeiLibuit 2016-6 LHGepraig 8. 20 TBTE perL AUDD BTG eri?
@) pegur  ® e
©) s@uissr O @ur
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165. In which sector fishing and mining are comes under?

(A) Private sector

‘);B)’ Primary sector

(C)  Tertiary sector

(D.) Secondary sector

e g Sped mﬁgm SYRIGHSET 6ThS Ganpulle &g;: umElng?
(A).. - gefluit geop | ' -
B) @5@1@@,&, LA

(C) uefizer gionp

®)  @remmb gieop

166. In which year was green revolution introduced?

o 1967 ® 1977

(C) 1987 - - (D) 1957

b peRTIG D LigGHLD L8] pmi;@psn;ouu@gguLng?
@) 1967 B ® 1917
© 1987 | () 1957

167. Which is not a cause for population exp_ldsion?
' (A) High birth rate . . ®) Social customs
\ﬂ_f High death rate | (D) Poverty

LD&SGT Q,snmei Qeug 1|6 Grg Qp&EL STYERTOO® aauags GHEGHES
&) - ofs Gpiy efign - B) saps ug)a;a; QUIPESIEISET
© = o= @i eSpid - @) gpaw

= o 61 ~ SGHGT17
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168. Who gave the name “Hindu rate of growth”?
(A)  Lionel Robbins

&7 Raj Krishna
(C) Mahalanobis

(D) Barbara Wootten

“@bgl euenitFdl aigh” eremyy Quwl L euir wini?
(A) @a)u;;az@ pmesen

®B)  @org Apeyerr |

(© waraGpmlen

(D)  umrugy esrl L e

169. Who is the changing agent of the society?

(A) Farmer
\.@r Enfrepreneur'

(C) Weaver

(D) Actor .

S OMHPHLD STEILD (pSQUiT Wi?
(B)  apan |
(B). QsmPdpamanGauri

(©) GQmsaurent |

D)  pusi
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170. How many members are nominated by the President to Rajiyasabha?

171,

(A

©
D)

'srggmasr o LGt EmaT Gl LIs Seme bTfotsamase Pudlésdeamni?

A
(B)
©
O

.14

12
11

10

14
12
1 '

10

Who presided over tI;e first session of the Constituent Assembly held on 9t December,

1946?

qGY

Dr. Rajendra Prasad

@7~ Dr. Sachchidanand Sinha

©
(D)

Dr. B.R. Ambedkar

Pandit Jawaharlal Nehru

9, 1 SHUI, 1946-& B Qupp Sirdlwe Firernu samuudan e sl Lb Wit seanuild BLbEg?

(A)
(B)

©

)

LT&LiT @ryn@g;’ryﬁrj'lﬁlu&r@
L it s68gnpeng Hengnrm
L&l 9. . suoGugsmt |

Leing. L gpeuapieoned Gu(m -

.63

SGHGT17
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172.  Who laid the foundation for the cancer Institute at Adayar?

{A) C.N. Annadurai

\.‘@/. J éwaharlal Nehru

(C) Mahatma Gandhiji

(D) T.M. Naiyar

SjenL_wimiled e erer LHHCHTU w@wmmmm&;@ DA ESED BT g LIGuiT LI
(4) C.N. scmenngeny

B) geanirerd G

(C) wvsrswrsrpd

D) geb. BT

173. The Supreme Court of India has its permanent séat in
(A) Chennai
(B) Mumbai

' C) Pune
| \-@{ New Delhi
BpHureils o sepHudnpid Arperons viewopgierer i

(A) Qsenever

B) @weu
©) yGar
D)  uysCLed
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174. Who is called the First Citizen and Father of the City?
(A)  Chief Minister
(B) Commissioner -

U Mayor

(D) Thasildar

:brrpéuni&] udéln WP Glg LoSe lbﬁ)@llb Q’r;smg Grem am;piu‘suu@.umr‘r wImir?
@) . ppemoss |

B) o

©  Goui |

D) eulmlduwi

175. Gram Sabha generally convenes in a year

3

\Jd)/ 4 times .

B) 1ltime
) - 2 times
(D) 3 times

| Qymosu QLTEAITS GO AiBLEHE RO GID
(A) . | 4 (y)mg)'&;&
B) 1wep
< 2 @@macﬁ

™ 3 Q,owm#eﬁ

SGHGT17
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176. Consider the following statements

L Pipelines are used to transfer commodities like oil and natural gas.

II.  Trans Arabian pipeline from Qaisumah in Saudi ‘Arabia to Sid()!’l in Lebanon is

running for a distance of 1214 km.
Which of the statements given above is/are correct?
(A) " Ionly ) - B

(B) IIonly

(C) - Neither I nor II

A BothIandIl

Qar@ésiu’ Herer cursBuwikisemer sese

L eemQesris whmd @u.;,rbma awnyma @ALHN®mHE wHRnTm B $HDGs Qanar@) Qadde
Bpmi Cursgarsg LuaTuRADS.

.II. syl SGrQweflen ensson LGS GHE Qeuamelld 2 drer s e LEH cueny 1214 4145
GRTUU CuréGeursg SiebgdTang!. _ |

GuwCa Qar@ésiiul_(Hever cunsdwtisellar sflwurar mn&eﬁlﬁ@/mn&ﬂm@&dr GTQ?

A) ol @b

B) IIw_ @b

© @l}s&r@@émw

@) Iuwppw Il Gren@id
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- 177. The first hydel Powef Station in I'ndis} was started in
(A) Sivasamudram |
(B) Mettur
w o Daxjeehpg
D) Bhakrana'pgal ,
@fmﬁun@ﬁ]w g piden 'I'_F).]GG)GII)UJLb. Bgediu’ @b
| (A) - .Qm&@égm‘o |
(B) Gl G
. (C) L rirgRledim

(D) ué,x;rrpréuﬁd) '

178. The local stonﬁs in the Northeastern part of India during hot v?eathe,r season is balled as
* LOO
u@r Norwester
(C) | Western Diéturbanée
(D) - Chinook
G;SITGDI_‘ u(meusdlad @‘rbéhurreﬂl& AL psE LSl elsd aeh@r‘r L{wed
CYR | | .
B) pri@eaevLT
(C) étﬁﬁ)&g‘,ﬁu BepLym

D) . Agrs

£ o 67 5 | SGHGT17
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179. Find the volume of a cuboid whose dimensions are given by 11 m, 10 m and 7m
(&)  800m* | & 770m?
(© 740m? (D) 710m?
1118, 1048, 7 8 yemeyden saté QodiaussSe sar aTmad SIS

(A 800 | "B 7708
© 7408 D) 7108

180. If the diz;.gonal of a square is 10 cm, then the side of the square is
M 5J§ cm : (B) 2J§ cm
) 3\/5 cm | - (D) - 53 cm.
@ @Uﬁ@é&r gpeaeilit b 10 cm erafled DiFen LES Siaray '
(A) 5\/5. cm _. (B) | 25 om
(C) 3J§ em : (D) 5V3 cm

181. A school auditorium is 45 m long and 27 m wide. This auditorium is surrounded by a .
_varandha of width 3 m on its outside. Find the area of the varandha

(4) 864 m® | (B) 846 m*
W 468 m? ©) 648 m?
@ Leatefilies o dter scas smLgHan Ford 45 8, sisab 27 8. smas sl gngs spifl Qeuefiliypors
318 is@upater FMpeunyd 2.drang). srperysden urliueTey erevenm?
) 864m? - | (B) 846 m?

© 468m? | (D) 648 m’

SGHGT17 | 68 . | £



-182. A sum of money triples itself at 10% per annum at simple interest. Find the number of
years

(A) 25years

_ V@f 20 years

{(C) 30years
D) 115 years
@@ GHUI L Apresurarg 10% safl aily dss8e wap wLbsTdng aalld gyar@aafien
TaRTENSR S STRTS. i :
B) 25 pyenGadr
B) 20 yer@Hsar
© 30 myemGad

)] 15%@@@

. 183. A worker receives Rs. 11,250 as bonus, which is 15% of his annual salary. His monthly

salary ig

(&) Rs. 6,220
(B) Rs. 5,626 |
(©) Rs. 6,520

L.\ Rs.6250

o Agmfored @. 11,250 ewsss Qpreswurs Qupddapri. @sAsras et sb e®
- aumwrasde 15% aeafld eufiarn wrg agyomend?

@A) - @ 6220
®) . 5620 R .
© ©6520 |
®) @ 6,250
£ | | 69 ' SGHGT17
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184. Tharani’s age is 3 less than that of Ram If Ram s age is 18 What are the ratio of Rani and

Tharani's age?

@A) 5:6
& 6:5
© 3:6
®) 6:3

grresfilien gy, u’umﬂu&]m awddmbg 3 @a)g_r)m mrmﬂu&lm awg 18 arafl®y gresfl mgpgum

srenflulien cuug g wing?
A 5:6
- (B) 65
€y 3:6
(D) 6:3

185. Vijaya types 540 words in half an hour. How many words will she type in 9. minutes?
(A) 164 words
B 172 words

(C) 152 words

\_@( I162 words

sflggwr ieny e Corgdsd 540 amgmgsmer U155 Qeiiflpri. 9 AL 0o Do afgenen

-Gurr'r‘r;isa_)gmm SLL &8 Qelieumr?
(&) 164 anmigansaet
B) 172 auriigengser
(© 152 amigmssdr

D) 162 auriisengser

SGHGT17 ' - 70 | | £



186. .The HCF Qf two numbers 150 and 225 is 75 then the LCM of those numbers' 18

187. The value of 25% of 1200 is

A 300

188.

‘A{ 450

(C) 400

A) 450

(©) 400

(© 1000

1200-6» 26% ereusuerey?
(A) 300

(€ 1000

B)

D)

(B)

D)

®)

D)

®)

D)

225

325

150, 225 arémp @)y ereimsefian B.Qum.a 75 eraflé SicuQeusinseticn 18.QUT.0?

225

325

900

600

900

600

The curved surface area of a right circular cylinder whose radius is a units and

height} b units is
(A)  ra’bsq. units

(C) 27 sq. units

‘JB‘}’ 27 absq. units

(D) 2 sq. units

a SeEseT TP, b SRS 2 wLFeh Gatar g Chite L e Beaander cuenamuLiy

@A) ra’h s seEsdT

© oz & DIVGEHET

7

®B) 27 ab & JGsET

D) 28 .—.éia)@aeir

SGHGT17
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3 /3
189. - Simplify: (253)2 x(122522 =

A)

®)

ot s P Ao

)

@F e

&
-
@A
@
<
N

(&)

®B)
©

ot o ™ non

@)

190. The 9t term of the sequence 1, 1, 2, 8, 5, 8, 13,... is

@) 21
® 25
& 34

@) 23

1,1,28,5,8, 13,... arénp Qpm_it auflensufien Seusy o gyl

a) 21
B 25
© 34
@ 23
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S {[&)2]2] :9

_ .
11 =
(B) 16
.o—-1
©) —IE,
o 16
. S 2.;2 -1
EMHEGS : [[(-%]J ] =7
1
&) 16
® 16
~1
© =
®) -16

192. The average value of five numbers is 40. If 2 number is deleted from the five humber, then
 the average will be reduced by 10. Find the deleted number.

@ 6 L ® 4w

\_,ee)/ 80 (D) 100

5 erainsefian syred 40, SaQeuarrsafley garan BaenCurg spreflien whay 10 GDOHBTD ajg
BEsIUL L ereRT wng)? ‘ : '

@A 60 _ - - ® 40

- (©) 80 D) 100

e 3 | SGHGT17
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193. Match the following :

(a) 1336 _ 1.  Origin of Bahmani Kingdom
(k) 1347 - 2.  Battle of Thalaikotta
(c) 1565 _ . 3. Downfall of Vijayanagar

(dy 1614 4.  Origin of Vijayanagar

() (b) (© (d)

N4 1 23

® 2 3 1 4
© 3 1 4 2
(D) 13 2 4
Q‘I.Jlr@ggjsz
' (a) 1336 1. umSefls Guyys Garppb
®) 1347 | 2. pemedGamien i Gum
(c) - 1565 - 3. dgupss Gugre elipas
(d) 1.614 - T4, eﬁ!&um&qu Gurm&Ggarr;b;ﬁh

@ (b (© @

@) 4 1.2 3
B) 2 3 1 4
© 3 1 4 2
o 1 s .2 4

SGHGT17 N 7



._
194. “P_o.ibos” a form of s:fal‘utation to the .king was introdm.:e'd by
(A) Iltumish
\M | Balban '
(C) Nasiruddin

(D) Bahram Shah

“erpCGumen” eretmy SapLILBID, “a{ﬁmu G @D LSlul wmréses‘.@oa)mmm” a@g&ﬁu@éﬁumﬁ?‘
®  @opden

B) umauer

©  phcshen

- D) umpb ey

195. Which city was 'n_ewly constructed by Krishna Devé.rayar?
(A) | Padménabapuram
B -' Thiruvananthapurani '_
\ﬂ)’ Nagalapu;am

(D) Vﬂluppuram

&mayer Coeugmui YSHsns (lﬂ;'rmrraﬂgg B&FD u.irrg;?

N ——. |
® | HmauenpsLyid

(C) prewmymd -

©  eginmd

£ | | 15 - . SGHGT17
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196. Jalian Wala Bagh is situated in

W Amritsar |  ®
(C) Agra | . _ (D)
&IeLIGN QUTETLING SIEDIOpgIETST @D
A  edigsyen : : B)

© s o

Lahore

Dell

QO &AT

QLéoadl |

197. The Dravidan Hostel for Non-Brahmin students was run by

(A) Pitty Thiyagaraya Chetty - ®

\J£7 Dr. Natesa Mudaliar ' D)

Dr. Ambedhkar

Dr. T.M. Nair

- Ggmoewr Qd)@:rﬁ@r’f&@&srr& “Ooreiler ARH”-eows BLGlweuir wrir?

A) Ol ursymu Qs iy (B)

(C) Dr. §CB|_& appdlwumi (I‘))‘

198. V.0. Chidambaram Pillai was born on

\M September 5t%, 1872 (B)

(C) December 5, _1873 (D)
au.e_. AgburbdGetaer GBS BreT
(A) QelLwburb, 1872 _ ®B)

(C) wswuir5,1873 )

SGHGT17 : 76
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September §t, 187 3
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.199. The First Presi_dént of t;he Madras M#hajaﬁa Sa-bha-waé |
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Read the following instructions carefully before you begin to answer the questions.
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11.
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IMPORTANT INSTRUCTIONS - »

This Booklet has a cover (this page) which should not be opened. till the invigilator gives signal to open
it at the commencement of the examination. As soon as the signal is received you should tear the right
side of the booklet cover carefully to open the bocklet. Then proceed to answer the quéstions.’

This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are -
requested to check whether all the questions are there in series without any omission and
ensure there are no blank pages in the question booklet. In case any defect in the Question
Paper is noticed it shall be reported to the Invigilator within first 10 minutes.

- Answer all queations.' All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet. .

- An Answer Sheet will be supplied to you separately by the Invigilator to mark the aﬁswers.

You will also encode your Register Number, Subject Code, Question Booklet Sl. No. ete. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case, you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the

Answer Sheet. '

In the Answer Sheet there are four circles ®.®, © an_d@ against each question. To answer the -
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item,@ is the correct answer, you have to mark as follows :. : : .
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You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Boo.klet and the Answer Sheel; out of the 'Exa:_nin_a'tion Hall during the examination.
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The sheet before the last page of the Question Booklet can be used for Rough Work.

~ Failure to comply with any of the above instructions will rende;' you liable to such action or penalty as
the Commission may decide at their discretion.

For Queeﬁon No. 101 to 200 in all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers in the Question booklet.




